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QUESTION 1

On which of the following factors does the capacity of an access point depend? Each correct answer represents a
complete solution. Choose all that apply. 

A. Channel reuse 

B. Software applications 

C. Number of users 

D. Co-location 

Correct Answer: BC 

 

QUESTION 2

Which of the following gains is used by antennas to provide an increase in RF coverage? 

A. Passive 

B. Positive 

C. Negative 

D. Active 

Correct Answer: A 

 

QUESTION 3

Which of the following security policies will you implement to keep safe your data when you connect your Laptop to the
office network over IEEE 802.11 WLANs? Each correct answer represents a complete solution. Choose two. 

A. Using portscanner like nmap in your network. 

B. Using personal firewall software on your Laptop. 

C. Using an IPSec enabled VPN for remote connectivity. 

D. Using a protocol analyzer on your Laptop to monitor for risks. 

Correct Answer: BC 

 

QUESTION 4

Which of the following statements are true about Radio frequency (RF) waves? Each correct answer represents a
complete solution. Choose all that apply. 
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A. They are a subset of electromagnetic waves. 

B. They have a frequency of 3 KHz to 300 GHz. 

C. They have a wavelength of 100km to 1mm. 

D. They have a frequency of 300 KHz to 3 GHz. 

E. They travel at the speed of light. 

F. They have a wavelength of 10km to 1mm. 

Correct Answer: ABCE 

 

QUESTION 5

Two RF signals, shown below, are operating at the same frequency of 2.142 MHz, but with different amplitudes. Which
of the following statements is true about these two signals? 

A. The signal with a higher amplitude (Signal A) has less power than the signal with a lower amplitude (Signal B). 

B. Both signals have the same power. 

C. The power of the two signals depends on the medium through which they are propagating. 

D. The signal with a higher amplitude (Signal A) has more power than the signal with a lower amplitude (Signal B). 

Correct Answer: D 
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QUESTION 6

Which of the following standards is used in Cordless phones? 

A. IEEE 

B. DECT 

C. IETF 

D. FCC 

Correct Answer: B 

 

QUESTION 7

Which of the following statements are true about the ITU-Radio communication Sector (ITU-R)? Each correct answer
represents a complete solution. Choose all that apply. 

A. It manages seven regions. 

B. It is responsible for global management of RF spectrum, in addition to satellite orbits. 

C. It is required to allocate spectrum and register frequency allocation, orbital positions, and other parameters of
satellites, in order to avoid harmful interference between radio stations of different countries. 

D. It is one of the three sectors of the International Telecommunication Union (ITU) and is responsible for radio
communication. 

E. Its membership includes 100 Member States and more than 700 Sector Members and Associates. 

Correct Answer: BCD 

 

QUESTION 8

You are implementing wireless access at a defense contractor. Specifications say, you must implement the AES
Encryption algorithm. Which encryption standard should you choose? 

A. TKIP 

B. WPA 

C. WPA 2 

D. WEP 

Correct Answer: C 

 

QUESTION 9

Which of the following wireless techniques provides the highest data transfer speed? 

Latest PW0-070 Dumps | PW0-070 VCE Dumps | PW0-070 Practice Test                                4 / 7

https://www.leads4pass.com/pw0-070.html
https://www.leads4pass.com/pw0-070.html
https://www.leads4pass.com/pw0-070.html


https://www.leads4pass.com/pw0-070.html
2024 Latest leads4pass PW0-070 PDF and VCE dumps Download

A. Infrared 

B. 802.11b 

C. Bluetooth 

D. 802.11 

Correct Answer: B 

 

 

QUESTION 10

Which of the following PCMCIA configuration directives is used to configure the NIC\\'s network address? 

A. NETMASK 

B. DOMAIN 

C. NETADDR 

D. IPADDR 

E. NETWORK 

Correct Answer: E 

 

QUESTION 11

Which of the following is a case sensitive text string used in wireless network and having a maximum length of 32
characters? 

A. WEP 

B. WAP 

C. SSID 

D. WTLS 

Correct Answer: C 

 

QUESTION 12

Which of the following factors determines whether a site is required? 

A. Number of servers 

B. Geographic location 
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C. Number of antennas 

D. Number of access points 

Correct Answer: D 

 

 

QUESTION 13

Which of the following defines Internet standards? 

A. IEEE 

B. RFC 

C. IANA 

D. FAQ 

Correct Answer: B 

 

 

QUESTION 14

The IEEE 802.11b standard specifies the characteristics of a wireless LAN. What transmission speed is supported by
this standard? 

A. 256 Kbps 

B. 56 Kbps 

C. 11 Mbps 

D. 512 Kbps 

Correct Answer: C 

 

QUESTION 15

You are using maps in the WCS to design a wireless LAN network. You add a campus and two buildings to the map.
Now you plan to add a new floor area to the first building. The floor types include cubes and walled offices, drywall office
only, and outdoor open space. Which of the following do the floor types use to assist the WCS by adding these
elements? 

A. Electromagnetic interference 

B. RF prediction 

C. Site survey utility 
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D. RF modeling 

Correct Answer: D 
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